CENTRAL SANSKRIT UNIVERSITY

Shree Sadashiva Campus, Puri (Odisha) Details of Construction

SI.	Name of	Total Land in acre Whether land has been			Constructed plinth Area			Project under construction			Proposed project					
No.	Hq/ Campus	Purchased	Leased	Rented	Name of the Block/Building	Area (Sqm)	Cost (Cr.)	Name of the Block/Building	Area (Sqm)	Cost (Cr.)	Fund is already released	Name of the Block/Building	Area (Sqm)	Cost (Cr.)	Remarks	
		complex a Mouza-	LEASED	SED	Academic Block	4131 sq.mtr	36100000.00	1.Shiksha Soudha Building			reiouseu	Dioeky Bununig				
								Library Building 1577 sq.mtr		• Ground floor	645.00 + 3593.275 (Ext)					
			of Educational		Girls' Hostel	2375 sq.mtr.	29500000.00	• First floor	611.70 + 3433.05 (ext)							
			Mouza- Gandhi Ghat, Puri	Mouza- Gandhi Ghat,		Staff Quarters	255 sq. mtr. (4 units)		• Second floor	611.70 + 1377.06 (ext)						
					Vertical Extention of Girls Hostel		16056000.00	• Third floor	645.00	98650000.00	98650000.00					
1	Shree Sadashiva Campus,	LEASED 10.5 Acres for Residential complex at Mouza Balukhanda, Puri		Boys Hostel (Mouza Balukhanda, Puri	2777 mtr.	59154000.00	• Height	15.00 mtr.								
	Puri, Odisha								• Parking	780.00 sqm + 2475.00 sqm (Open parking within the premises)						
								2. Modification of Main Gate		2411900.00	2411900.00					
	-							3. Construction of Road		2477800.00	2477800.00					
								4. Spread of Ladies Hostel Tile & Rise of Existing Wall		2467600.00	2467600.00					
								5. Construction of Boundary Wall affected by FANI		2494200.00	2494200.00					
								6. Modification of open space and fixing of floor tiles in open courtyard to convert it as Badminton court.		1905000.00	1905000.00					

SECTION OFFICER

1

DIRECTOR

CENTRAL SANSKRIT UNIVERSITY SHREE SADASHIVA CAMPUS, PURI (ODISHA) DETAILS OF CONSTRUCTION

total Land in acre Whether land has been		Constructed plinth Area Project under construction						Proposed project			Remarks	
					Project under construction							
Leased	Rented	Name of the Block/Building	Area (Sqm)	Cost (Cr.)	Name of the Block/Building	Area (Sqm)	Cost (Cr.)	Fund is already released	Name of the Block/Buildi ng	Area (Sqm)	Cost (Cr.)	
4	5	6	7	8	9	10	11	12	13	14	15	16
LEASED 4.780 Acres of Educational complex at Mouza- Gandhi Ghat, Puri 10.5 Acres for Residential complex at Mouza Balukhanda, Puri		Academic Block Library Building Girls' Hostel Staff Quarters Boys Hostel (Mouza – Balukhanda, Puri)	4131 sq. mtr. 1577 sq. mtr. 2375 sq. mtr. 255 sq. mtr. (4 units) 2777 mtr.		1.Shiksha Soudha Building •Ground floor •First floor •Second floor •Third floor •Height •Parking	 645.00 + 3593.275 (Ext) 611.70 + 3433.05 (ext) 611.70 + 1377.06 (ext) 645.00 15.00 mtr. 780.00 sqm + 2475.00 sqm (Open parking within the premises) 						
					2. Modification of Main Gate							
					3. Construction of Road							
					4. Spread of Ladies Hostel Tile							
					5. Construction of Boundary Wall affected by FANI							
					6. Rise of Existing Wall							

Shiksha Soudha Building (Rooms)

>

Ground Floor

SI No.	Rooms
1	Entrance/Lobby
2	Store Room
3	Psychology Lab
4	Computer Lab
5	Toilet
6	Staircase
7	Girls Toilet
8	Accessable Toilet
9	Boys Toilet
10	Staff Common Room
11	Educational Toys Room
12	Corridor
	1 st Floor
SI No.	Rooms
13	Lobby
14	Class Room -1
15	Class Room -2
16	Class Room – 3
17	Class Room – 4
18	Staircase
19	Girl's Toilet
20	Handicapped Toilet
21	Boy's Toilet
22	Class Room – 5
23	Technology Lab
24	Corridor
	2 nd Floor
Sl No.	Rooms
25	Store Room
26	Project Scholar Room
27	Project Scholar Room -1
28	Project Scholar Room - 2
29	Project Scholar Room – 3

SI No.	Rooms
30	Project Scholar Room – 4
31	Project Scholar Room – 5
32	Staircase
33	Girl's Hostel
34	Handicapped Toilet
35	Boy's Toilet
36	Class Room – 6
37	Class Room – 7
38	Class Room – 8
39	Class Room – 9
40	Corridor
41	Lift Front wall
	3 rd Floor
Sl No.	Rooms
42	Sales and publication Room
43	Class Room – 10
44	Language Lab
45	Class Room – 11
46	Staircase
47	Girl's Toilet
48	Handicapped Toilet
49	Boy's Toilet
50	Library Cum Reading Room
51	Girl's Common Room
52	Distance Office Room
53	Research Officers Room
54	Corridor
55	Lift Room
56	Lift Shaft
57	Head Room
58	Auditorium Hall
59	Multipurpose Hall Staircase (Ground Floor)
<u>59</u> 60	Multipurpose Hall Staircase (1 st Floor)
60	Multipurpose Hall Office Room (1 st Floor)
62	Multipurpose Hall Staircase (2 nd Floor)
63	Multipurpose Hall Office Room (2 nd Floor)
	Multipurpose Hall Head Room

Sl No.	Rooms
64	Green Room -1
65	Green Room -2
66	Green Room Front
67	Green Room Inside
68	Multipurpose Hall Staircase Wall
69	Multipurpose Hall (1 st Floor)
70	Admin Building Room -6
71	Admin Building Room – 9
72	Library Building

opechication of Rooms and o	other infrastructural	facilities
-----------------------------	-----------------------	------------

Description	Rooms No.	Length in meter	Breadth meter	Carpet area in sq
Class Room	202			meter
Class Room	303	4.700	6.175	29.00
Class Room	308	4.700	6.175	29.00
Class Room		4.650	6.175	28.71
Class Room	302	4.600	6.175	28.40
Class Room	309	4.700	6.175	29.00
Class Room(3 rd	16	9.200	6.175	56.50
Floor) Class Room(3 rd	403	9.200	6.175	56.50
Floor)	304	9.200	6.175	56.50 🦟
Class Room(Old Building)	5	6.875	3.75	51.56
Class Room(Old Building)	3	6.875	6.175	51.56
Principal/HOD	102	4.750	6.175	29.33
Administrative	102	4.750	0.175	1
Office	105	4.775	6.175	29.48
Store Room	402	4.700	6.175	29.02 <
Physical Education & Yoga Room/GYM	Old Building	9.200	6.175	29.02
Girls Common Room	07	9.200	6.175	56.81
Boys Common Room	203	9.200	6.175	56.81
Art & Crafts Room	401	0.275	C 17F	57.88
	401	9.375	6.175	57.88
Socially Useful productive work SUPW)	408	14.250	6.175	88.00 🎾
sychology Lab	407	9.350	6.175	57.73 🎾
ducational			0.270	
echnology (ET/ICT ab)	101	9.200	6.175	56.80 📍
Vorkshop	204	14.200	4.125	58.57
brary	31	4.650	4.125	19.18 >>
urriculum Lab	311	4.600	6.175	28.40
isitor Room	202	4.750	6.175	29.33
anteen	Old Building	14.200	4.125	56.80
Iultipurpose Hall	Old Building	35.36	13.00	460 ×
eminar Room/	206	4.77	6.175	29.48 ✓
utorial Room				
lusic Room	301	4.600	6.175	28.40
aff Common Dom(Ground Dor)	103	9.200	6.175	56.50
aff Room-1 (2 nd	307	4.700	4.125	19.38
por)	2005	4.600	4.125	18.97
aff Room -2	306			
aff Room-3	305	4.650	4.125	19.18
aff Room-4	406	4.700	4.125	19.38
iff Room5	405	4.600	4.125	18.97
mputer Lab	106			

Torial

S

1

1

3

£.,

61),

4 NOLX 11.62 = 46.48

HEAD; DEPT. OF EDUCATION RASHTRIYA SAMSKRIT SANSTHAN (DEF) (DEF) (DEF) (DEF) (DEF)

9 Sam 739 pon 210 9 PRINCIPAL

Annexwe - VII

Rashtriya Sanskrit Sansthan(D.U.) Shree Sadashiv Campus, Puri